FRIVFERDEREFRANZ BEREEN

T304 4A308 B#E
Z 8 X B x B B
x & ®© ®B &

E| W E |REHH EEH RIBEY EER TR
= 5 & b prk QRS | iR ')Bﬁﬁ’::‘ﬁﬁ$ P Fropere pepm roperees frvm R (R | YR R
dvigE 3,290 -392(-10.6 36 6 20.0 18 50.0 | 35 2(19] 12.51 23] 3,841 -487(-11.3] 4 4 -
' & 891 -165(-15.6 16 2| 14.3 10( 62.5 | 20 3[ 15| 42.9115] 1,088 -228(-17.3) 2 1] 100.0
Rl & F 609 -69[-10.2 21 10[ 58.8 17( 63.0 [ 19 9 7 | 112.5] 5 749 -117({-13.5] 2 © 0.0
=T | 2263 2411 -9.6 18 71 63.6 12( 66.7 | 15 5( 8| 71.4] 9 2,839 -276| -8.9] 1 1 -
] 601 -19] -3.1 1 7 175.0 6| 54.5 | 31 5( 8 | 500.0| 1 715 51 -6.7] 1 1 -
EI AR 1,825 -180| -9.0 10 -6| -37.5 71 70.0 | 8 -5 39| -41.7) 42| 2,266 -210[ -8.5] Of © -
E B 1,582| -316|-16.6 25 8| 47.1 16| 64.0 | 16 5( 8 | 45.5/ 13] 1,902 -417(-18.0] '3[ 3 -
S = | 10,730 274 2.6 43 2l 4.9 15[ 34.9 | 46 -1/ 30| -6.3) 30 12,255 96| 0.8] 4| 4 -
* | 298 -290| -8.9 45 -3 -6.3 25| 55.6 | 30 0f 26 0.0 26| 3,742 -445(-10.6] 2| -2 -50.0
W K 1,451 -209|-12.6 30 3 111 231 76.7 | 4 3(15] 15.01 20 1,759 -333(-15.9] O -1(-100.0
E B 4,135 =751 -1.8 15 -4 -21.1 6( 40.0 | 44 —-6( 42 | -50.0( 45| 5,232 -207( -3.8] O -2(-100.0
w X 7,943 -795| -9.1 n 10{ 16.4 36( 50.7 | 34 2( 19 5.91 24 9,578 -1,070{-10.0) 1| -2 -66.7
F ZE| 5474 -298] -5.2 61 11 22.0 36| 59.0 | 24 17 1 89.5| 7 6,576 -544| -1.6] 3 11 50.0
LB 8, 649 -18] -0.2 45 2 4.7 24| 53.3 | 32 3[ 15| 14.3[ 21] 10,238 -1 0.1 2| -5 -71.4
R 1,204] -135|-10.1 28 12 75.0 21 75.0 | 5 12| 4 [ 133.3] 2 1,420( -194(-12.0} 1] -1 -50.0
Bl 1,156 -133]-10.3 10 0] 0.0 6 60.0 | 23 1124 20.0119] 1,486 1511 -9.2]1 © -
& % | 238 -216| -8.3 16 -8| -33.3 8[ 50.0 | 35 -5[ 39| -38.5( 40| 2,894 -293| -9.2] 2 -
M 9,193 -517| -5.3 33| -14] -29.8 16| 48.5 | 38 -12| 46 | -42.9| 43| 11,902 -600| -4.8] 2 -1] -33.3
E W 970 -118[-10.8 11 11 10.0 5 45.5 | 41 2( 19| 66.7( 10| 1,120 -152|-11.9] O -
Bl & I 802 -216(-21.2 11 -11 -8.3 8 72.7 | 6 2 19| 33.3] 17 928 -252|-21.4 0 -
B I 487 -43| -8.1 14 0f 0.0 10 71.4 | 7 412 66.7| 10 556 -40( -6.7] 1 0.0
Ik B 1,598|  -328|-17.0 28 3 12.0 16( 57.1 | 26 2( 19 14.3[21] 2,128 -394|-15.6] 1 -2| -66.7
B 0| 11,686 —1,333|-10.2 63 5( 8.6 36( 57.1 | 26 10] 6 [ 38.5| 16 13,991| -1,911|-12.01 4 2| 100.0
= 5 1,633 -252|-13.4 28 6| 27.3 23] 82.1] 2 13] 21 130.0f 3 2,17 -320|-12.8] 0 -3]-100.0
# B 1,399 -166{ -10. 6 13 2| 18.2 9 69.2 | 10 5( 8 | 125.0| 4 1,754 -212(-10.8} 0] -1[-100.0
| RO#E | 2,011 -352(-14.9 10| -17| -63.0 2( 20.0 | 47 -12| 46| -85.7( 47] 2,365 -4411-15.7}  0f -1]-100.0
X B | 10,917 -585| -5.1 47 -1 -2.1 22| 46.8 | 39 4012 22.2| 18] 12,888 -953| -6.9] 0O -5/-100.0
£ E| 8032 -712| -8.1 48 -2 -4.0 28| 58.3 | 26 1] 24 3.7 25| 9,761 -954| -8.9] 0O -1]-100.0
2 x B 1,357 -73] -5.1 11 -5| -31.3 7| 63.6 | 17 -4| 37| -36.4) 39| 1,685 -106| -5.9] 1 1 -
FFL 142 -92|-11.0 11 11 10.0 7| 63.6 | 17 3[ 15| 75.0| 8 923 -95[ -9.3] 0] -1[-100.0
5 W 294 11 0.3 1 -3| -30.0 4 57.1 | 26 -2| 35| -33.3| 36 346 -6 -1.7] 0] -1{-100.0
b5 R 344 -491-12.5 8 -2| -20.0 5 62.5 | 20 -1 30| -16.7] 33 419 -38] -8.3] 1 0 0.0
oW 2,001 -469(-19.0 20 -9] -31.0 9 45.0 | 42 -7| 44 | -43.8| 44| 2,371 -550(-18.8] 3 3 -
Hl & B | 2364 -464[-16.4 37 11 42.3 25| 67.6 | 14 13] 2 | 108.3( 6 2,930 -565(-16.2] 2 2 -
o 1,336 -369| -21. 6 16 -3| -15.8 11 68.8 | 12 -4 37| -26.7) 35| 1,629 -478|-22.7) 0 -1]-100.0
s 852| -182(-17.6 1 -2| -22.2 3| 42.9 | 43 0f 26 0.0/ 26| 1,033 -211{-17.0} 1 0 0.0
mF I 1,17 -359(-17.3 15 -6| -28.6 12| 80.0 [ 3 -11 30| -7.7) 31| 2,051 -441(-17.71 0f O -
Hl 2 &% 1,225 -93| -71.1 17 -5 -22.7 9 52.9 | 33 5[ 39| -35.7) 38| 1,435 =72 -4.8] 1 1 =
R 511 -125(-19.7 10 -1 -9.1 71 70.0 | 8 0f 26 0.0] 26 557 -162(-22.5] 0f O —
& | 10,199 -1,024] -9.1 45 3 1.1 311 68.9 | 11 111 5| 55.0 12| 13,267 -1,344] -9.2] 1 1 -
T = 2,038 169 -7.7 10 0f 0.0 4 40.0 | 44 -1/ 30| -20.0| 34| 2,656 -245( -8.4] 2 1] 100.0
A 1,632  -193]-11.2 10 -1 -9.1 5[ 50.0 | 35 —6( 42| -54.5| 46| 1,968 -265(-11.5] Of O -
B K 1,662|  -362|-18.9 18] -13] -41.9 11 61.1 | 22 -7] 44 | -38.9] 41 1,956 -488|-20.01 1 0 0.0
X % 1,087 -182(-14.3 1 -6| -46.2 6| 8.7 1 -3| 36 | -33.3] 36| 1,401 -234(-14.3] Of O -
MW= B’ 2381 2411 -9.2 19 1 5.6 13( 68.4 [ 13 412 | 44.4114] 2,583 -350(-11.9] 5[ 4| 400.0
BRS 1,958] -178] -8.3 21 -1 -4.5 12( 57.1 | 26 -1 30| -7.7) 31| 2,308 -206| -8.2) 2 1] 100.0
R 1,369 -210{-13.3 13 -2| -13.3 6| 46.2 | 40 0f 26 0.0]26] 1,579 -233|-12.9] 1| -2| -66.7
a &t |140,758|-12,732| -8.3] 1,115 -2| -0.2| 648 58.1 58 9.8 171, 247|117, 246 -9.1] 57 1 1.8

FE1 OBEE E) . ERHALOLEKRTHDS,

2 RAEMH. AGEY. BREOREHR. RERCERGHEIBHTH S,

_21_




